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Q2.
Circles correct answer AO1.1b B1 12
Total 1 Circles correct answer AO1.1b B1
(a) | Forms an appropriate AO11a M1 Let position vector of Bbe ai + bj
equation to find the
position vector of B ai+bj+T7i+9] 3+ 6i
=3+
5 J
Finds the correct position | AO1.1b ATl ai+bj=—+3)
vector of B
Total 2
(b) | Finds the componentsof | AO1.1a M1 AB = —8j — 6]
the vector 48 and finds
the length using
Pythagoras’ theorem |2B|=+/8% +6% =10
Obtains correct lengthof | AO1.1b AlTF
‘their AB
Total 2

amb‘t
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Q Marking Instructions Marks Typical Solution
Q4. Attempt to express 8 or 16 as powers of 2. M1 29" — 8% %16
e e.g 8seenas 2° or 16 seen as 2*. ) ,\@
& 2" = (23) x 2
2** and 2* seen. B1 g _ patd
Obtains @ —3a—-4=0 Al ,
a =3a+4
Both correct values for a. Al
0=a’—-3a-4
4 marks
0=(a—4)(a+1)
a=4, a=-1
Marking instructions AO Marks Typical solution
Selects an appropriate AO3.1a M1 Mid-point of AB= (3, 2)
method by finding the
midpoint of AB and the Gradient of AB=2
gradient of AB Hence gradient of perpendicular bisector
1
: . _ )
Finds the correct gradient | AO1.1b ATR Equation of perpendicular bisector is
of the perpendicular 1
bisector of AB ft ‘their y—2=——(x-3)
gradient of AB 2
1
p+6=-5(p-3)
Forms an appropriate AOT1a M1 p=-3
equation and substitutes
the given coordinate into
‘their’ equation to find p
Finds the correct value of | AO1.1b Al

P

Total
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5 (Alt)

Selects an appropriate
method by using the
distance between two
points formula to form an
expression for the
distance between A or B
and the point with
coordinates (p, p + 8)

AO3.1a

M1

Forms a correct equation
using equal distances
between the points A and
E and the given point.

AO1.1b

AT

Expands brackets
correctly to solve the
equation

AO1.1a

M1

Finds the correct value of

p

AO1.1b

Al

Distances are

J(p=17+ (p+10)
J(p-5)+ (p+2)

J(p=1+ (p+10) = [(p—-5) + (p+2)
(p=1+ (p+10) =(p-5)+ (p+2)
2p° +18p+101=2p* —-6p+29

p=-3

Total
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Qeé.
(a) Attempts 4B = OB —OA or similar M1
AB = 5i+10j Al
(2)
(b) Finds length using 'Pythagoras’ |AE| =,f(5)i +(1 D)E M1
|4B| =545 Alft
(2)
Q7.
e . e ey e I
@ @B or 3 or 3 yF or3VTE [ ML Lla| o termediate step using § or 3« 37| 1 this step is not seen, MOAO
1743 Al | 11 |era=27.b=3
[2]
(i) DE
l—gxﬁ M1 | Lla If this step is not zeen, MOAD
J2+12 a4 J2+2
=15 or = ar o a Al | 1.1 | Al for correct oum OF. denom
=2_1 IsW Al | L1 |ar 2+ (-1 2jore=—2 d=—lande=2 Allow 2+ 2)
131
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[4]

Q8.
(i) c—a il oe Bl
[1]
G .1 L1 L1 : 1 .
i} a+—(c-a) or c+=(a—c) All a+ —ther (a) orc— = their (a)
= % fa+c) or 17 at=c Al Correct ans without wking: M1A1
[2]
OB=(a+¢) FB=a+ L1(c—a)ora+ L their (D) or P = ¢ — L their (i)(a)
(if) M1 : 2 2
orec+ 17 (a—rc)
(= 1 (a+c) oe), ft their (i)(a)
NBE IE'E=% (a + ¢) without justfication:
MOAOAOED
oP=108 M ous lin -
— Ty ust see previous lme AlL* == or similar with BP or B0
= P is mdpt of OB dep*
or OFB is a straight line and OF = PB Al
Hence diagonals of //m bisect one another El dep M1A1A1
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® : [4' 1.1
BC= ]
-2
4N (x\ (=2 M1 3.1a | soi
(2 Al 1.1
OD = ]
_1.
[3]
(i) . (4 Bl 1.1
OM = ]
4.
: : . (6 M1 1.1 | soi
AM =0M -04=
3
‘_,ﬂ;‘:.fﬁzﬂz =35 Al 2.2a | Accept 6.71

[3]




